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Instructions for the candidates :

1.~ Candidate must enter his / her
Question Booklet Serial No.

(10 Digits) in the OMR Answer
Sheet.

2. Candidates are required to give their
answers in thewr own words as far
as practicable.

3.  Figures in the right hand margin
indicate full marks.

15 minutes of extra time have been
allotted for the candidates to read
the questions carefully.

5. This question booklet is divided into

two sections — Section-A and
Section-B.
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avg-y # 70 aEqgFre gvT & fd 6.
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IN-99% H Ry 7w wel faeey &
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Fv vaw ® gahnr @& wa #
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g @ e 2 & fuifka & AR
g fegt 10 Wy I I dW
stfrard # 1 773 AT 79 @S §
6 3 gwdta wy T A 18 AT &
e 5 o Fifta 2 P 9 fast
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fedt yar & goFEHF JIPIUT F 8.

g qutrar af .

[117 ]

In Section-A, there are
70 objective type questions, out of
which any 35 questions are to be
answered. If more than 35 questions
are answered, then only first 35 will
be evaluated. Each question carries
1 mark. For answering these
darken the circle with blue / black
ball pen against the correct option
on OMR Answer Sheet prouvided to
you. Do not use whitener / liquid
/ blade / nall etc. on OMR Answer
Sheet, otherwise the result will
be treated invalid.

In Section - B, there are 20 short
answer type questions, each
carrying 2 marks, out of which any
10 questions are to be answered.
Apart from these, there are 6 long
answer type questions, each
carrying § marks, out of which any
3 questions are to be answered.

Use of any electronic appliances is
strictly prohubited.
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(117 ]

®Us - A / SECTION - A

E’F{Iﬁ'@' w9 / Objective Type Questions

gy g 1/ maﬁ#na?armérmrwﬁmz%vwiﬁ Rrrd @ v wEl 81

mmq#waﬁ%mﬁomﬁzwﬁ%ﬁ#r&a?ssnﬁwm%:
35x1=35

] 1 have to
Question Nos. 1 to 70 have four optlions, out of which only one 1S correct. You

i 1=35
mark your selected option, on the OMR-Sheet. Answer any 35 questions. 35 x

1. mﬁw@uﬁmmiﬁﬁwmm%

() Py =By 054 B) P lms <080
(<) P.,= E . Trms sin¢ (D) P, = E s I_..cos (]

The expression for real average power in an alternating current circuit 1s

(A) P,=E_ s cos ¢ K\Q'Q\ (B) P,=1s cos ¢
&
(C) ‘F.’au = Erm.s I@ ng (D) Pau = Erm.s Irms cos ¢
$ -
. QY . N
2. ¥ TOTE & SR FAl &
R N Z
G — (B) B
(C) R.Z2 (D) W.L
Power factor is equal to
R z
@ » Z
©  RZ O  Ww.L
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MOLlr-?

ML T

(k) (B)
(A) sin ( 3 :
: - ek (D)
() tan [ = )
Phase difference in | L-R) circyit is
-1 rtuL B
(A) sin \?J (B)
-1{ ok D
@ [ L) D)
SRR T aROTE IO e &
V
A == (B)
P
Q
(C) ~ lv gﬁ\Q (D)
Vs Vp S
Q‘G
i @\o in transformer is
Transformation
Q
(A) U5 (B}
VP
(C ‘ (D}
g VP
R.C F fawT g7 AT B
{41 | AP A ol (B)
. MYLT? (D)
A
B - 2003-s5/60)|
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Dimenstonal fonmula ol .Cs

(A) Ao
E(-] ﬂ.f“f_“-f'“
YA I AT S 1 BT 81T 8

(&) Am™

(C) Am

S.1. unit of pole strength 1s
(A} Am~!

(C) Am

THETH wEF g &9 T e & [=Fe707 T35 D 75 F Z

(A) W=MB(l-sing) Q@

%

Work done in thie deflesuisn/ol a magnet in a uniform magretic feid s

(A) A =ME!lT=smnb);

:C) VIi=AMB1-cost)

I H RN T TETE T

(13)

(M)

(D)

(B

(D)

ﬂ]“f,“'f'"?

A

Am™*

Fm

(B

(D)

(B)

-

W=2MBsin.

W =2AIBcosH

W=13sink

3

Al m= £

© T s

¢

=MBc
T E 7

LW |

3
%

ol
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10.

11.

[117]

Which of the following relations is correct for mass and energy ?

(Al m=E B) m’=E
(C) mc? =E (D) mz—'g-ﬁ

et dE (8),, %1 fEamuRt wew e @

(A)  (1000), - (B) (1001),
(€ (111), " _ D)  (110),

Binary number of decimal number (8),, is

(1}] (1000 )2 (B} (1001 }2
() (111), (D) ./ 1110 ),
NAND 712 &1 GFd gar &

N
w =T - N (B)

(D)

© 2> &

Symbol of NAN&nge is
@ O - (B)
© > (D)

-9 FTA T,,, Ud 437 Pt § W g 8

SRR

A
(A] T]fgz[):ﬁg:}fl _ [.B] T]/Q:m
(€) T,,,=0:693% _ (D) T,,=0-693)°
| B |- | 3003-59/60) Page 6 Of_:i;
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[ 117 ]
The relation between half-life time T ,, and decay constant is
. — ?\r

(A)  T,,,=0-693/1 B Ty2=57693

_ ~2
(©) T,,,=0-693% D)y T,,,=0-693%

12. Frefefea # #9 o &0 & fow & ¢ 2
A) TR 1)  fem-gram fafe
© @y afas (D) EESEH S
Which of the following is correct for « - particle ?
(A) electron - (B) electromagnetic radiation
(C)  helium nucleus K\QQ (D) hydrogen nucleus
&6
13, Fretfefan o # wio w87
@$ . v
a)  2°%U-» gg**u + JHe B)  33°U-23%Th+ 3He
(C) 33“11 - Sf;‘“”l‘m *He (D) 233U-—) 242Tl'1+ gHe
Which of the following equations is correct ?
238

(A) 5 U330+ SHe B) 238U 2Th+ iHe
€ 33°U->29Th+ 3He D)  2PU—>232Th+ $He
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Fr=ieiiEa | ®1 Irn-ued fn & Ry adsm s g w2

> at
o Ho HdT)
dB = 24 =3

A
- Mg I 7
dB = =2. —
T 42

Which of the following is the correct vector form of the cquation.nf Biot-Savart

L.
2y

...+
dB

1l

Al'.':
5 o
| ]

6l
fl
-bl'.':
=S o
—
~N >

|

[ %]

E=F/q

E=g/F

E=F/q

E=q/F

14.
- 1@l = r)
PU xr
A) dB=-2 X0 B
[.) 4n re (B)
- [(dlx7)
. _ ng X r
© 4B =2 =T (D)
law ?
2 Hg I(CTE X :}
A) dB=-2 X7} B
(A r = B
Ny 1(dlx r)
© 4B =L ST D)
15. foal fog W Taga-&9 &I dean g &
(A} E=F Q B)
q SQ\Q l
(C) E=+Fh Ny (D)
Fa (&
Q
Intensity of e]e@&ic field at a point is
(A) E=Fg (B)
Y — l 1]
©) E=4Fq (D)
16. NEI H JS-H7 Bl &
W =2 B
€ o=g (D)
li -1 3003-(s9/60}
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[ 117}
Surface density of charge is
Q : Q
A I e e
(A) a A (13) a I
(C) n=('—;» D) o=0Q-A
17. TG G st e g &
(rR ) rR
A C=4ne s -
(*} n O\r—R) (B) C 4ﬁEU[r+RJ
c ( reR \ rR? \I
{' ) C—‘MEUJ—RJ (D) L=4neo[r_R).
Capacity of spherical condenser is
rR rR \
A C=4 N
(A) neﬁ(r_R) (B) C~4neo(r+RJ
o C=d r’R ~ /R
(C) =4n €, - ® (D) C:qﬂE{} —
S
18, 1p, FRREME P
»
QQ
Ho @ H
A == B -
I'L.'l 2
€ yn D) 1
Ay By
1 u, is equal to
. H
a2 B L
Hy Ho
(C) Hao ' 1y (D) 1
_ HiHa
l E_I -1 3003—15915{11_1 Page 9 of 32
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1 (117
19. e W F=91 aren wiafee dan &

(A) areafaw g £i\5 1 (BY CILGICED U§ JoT0

(C) U Td dhr (D) IS & Iowed

Image formed on retina is

(A) real and erect (B) real and inverted

(C) virtual and erect (D)  virtual and inverted
20. TG A P HEEA e g &

Sy 7.

A — -9

AT PST

(C) - % (D) *f{e—

‘ 0 ,® o

- K\Q :
The magnification pc@ of Astronomical Telescope is
W |
w oY B -2
7. S 7.
R o L

(C) 7 (D) A
21, faefatma § & e & fAum & sR a2

(A) WO | B fEE

() - Feggam (D)  STEE
"* [ B_|-[3003-ss/60) Page 10 of 32
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117 |

Which of the lollowing is the causce of formation of rainbow ?

(A) Scattering (B) Diffraction

(C) Dispersion (D) Relraction
22, FeAfanga © #R g gewE an 1@ 2 2

(A) e agl (B)  X-T®Tor

€ ARk (D) AT TT0T

Which of the following is not electromagnelic wave ?

(A) Light waves (B) X-rays

(C) Sound wavces (D) Infrared rays
23. UREY OerH @0 & feu shildaes FI0T gl 2

(A)  48-75 Q (B) 41.14°

K\Q
o ® -]
C)  37.31 %6 (D)  24.41
N

Critical angle for&@&nsparcnl medium diamond is

(A)  48.75 (B) 41-14°

()  37-31 D)  24.41°
24,  ERME ® HH WHER 81T &

(A)  hv B &

‘.J
(€} R (D) h
v

3003-(s9/60)
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26,

[ 117 |

kEncrgy of photon i1s equal to

' h
(A) hv (B) "

. h
€  Jhv (D) =
Uk &3 T Al (4 ) % SE 7] €

B 9] Ho
(A} o B) ==
‘ Ho B,
{C} Bﬁ“ﬁ (D) BO“U

intensity of a magnetising field { H) is equal to

3. T
(A) i (B) —

Ho B,
(C) ERIN (D) BU“'O
feptfefraes 1 R eardt ;Qr@#rz'w & fomr wet & 2

g\\
WV, 3§ ® Vv,
N
@Q

(C) V, - V,;@ () V, << Vp
wWhich af the following is correct for step-up transformer ?
(A) V, - 1'*.“ (B) Vy> vp
© V- vp' O V<<V,

feare wiar o fean udforen o vl &
YRRl (B A

- )
{(CC) DY (D) —

g - . —

- [_ﬁ]— {3[]“:5‘{59!5@'} TN l;"- ;f.’ﬁ‘
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28.

29,

Inductive reactance for direct current is

(A) ZLTro (B)

(C) oL (D)

AR e 1 Tga- e ™ ATl 8 &

A NA (B)
© L (D)
1A

1 117 ]

mfinity

1

wlL

-
IA
N

Electromagnetic moment of current carrying coil is

A NIA (B)
g\@@
(. & (D)
IA Q§§

$

ferget eferel T S A S

(A)  NC 3
€y N | D)
The S.1. unit of electric ntensity is

(A} NC o)

1

) N (D)

e ke e .

N/C

9

N/C™

N/ C

N/C?

-m~[E£Jif|3(n]3~w9fﬁ°‘

el - e A e
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n {117

20 Tl dunarm s Fm B AR R 2
Ay J- 1A B J=
A

- A
ot SR s
' !

D) J=1°A

Which of the: following is correct for current density ?

At J=1-A 1
) B  J=
iy J ——’}‘- D) J=1%A

3y (ateies a nfastaar # o s e ¢ 2

v
4 =_E_:_
N
€ neV B O D) p=E2.V,
>
Which of the foll@%ng is.correct for mobility ?
N\
S
v L
A fB] p=
Ay . p E Vd
+2
{C) peV, & (D) p=E*-V,
yp farsfafaa 0 @ e ko7
\ B {
{A) | watt - 1 .Js (B} I watt = | Ve
- e 1 e )
©) 1 watt = 1av (1 wan = | Fn

.

g Lol jj.',l

- [3003-werea |

- S

-
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33.

34.

35.

{117 ]
Which of the following is correct ?
(A) watt=1Js" (B) 1watt=1Vs"
(C) 1watt=1]sV" (D) 1 watt = 1 Fs ™’

a3 B 4
© 5 ) 6

Colour code of carbon resistance for blue colour is

A3 B 4

(D) 6

(B  3TEY H

Ampere-hour is the unit of

(Al power (B}  charge

{(;] CNergy (D} potential difference

Frafafea d silen aa & fan e wd @ 2

- . -

TR - -
(A} Fagiliiave i) (B) E’*‘HE*'V' )
" . o - -3
{(‘] o {j‘ PV i } v

- s
(D) FaqE+BxV )
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Which of the [ollowing is correct for Lorentz force ?

— - =+ = - - =
{AI F=qlE+Vx B (B) F=q(E+V)

— - = = - - =+ =
(C} F=(E+VxB) (D) F=q(E+BxV)
4 THEZY OAT A HW P BIRE g0 EA &
(A) 0-25m (B} 025 cm
(C) 0-35m (D) 0:35cm

The focal length of a lens of capacity 4 dioptre is
(A) 0:25m (B) 025cm

(C) 0:35m (D} . 0-35cm

Ereffeaiga § #19 a01- Ty &9d & e wE g 2

S\\Q
- & M, — U
A w =,’-‘-"-——-—“’Q‘§ B w=——
' RS y
$
_ -1
. “'j ] _ ill’
. o LS D w =

!Ll w p‘, - “‘]r ’ H'J" - ulr

Which of the following is correct for dispersive power ?

- 1, -
{A) I : !'_ra Ei (3) = ;‘__[_._'_l__:_l_
' My, - } Hy - ]
Hy, po
() o e D) ot
“' - “r H’ ’|”
(1] - [3003 s/e0 e 1T
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38.

39,

[117))
aﬁfm%wﬁm[u%)aﬁmﬁmgﬁ f @ dR T (u=2) @
f, B

A f,=f, B f,=2/,

€ f,=3/, Dy f,=41

If the focal length of a glass lens (p=%) in air is f_ and in water [p=%} IS

f,, then
A f,=f B £, =2f,
€ f,=3/, (D) « Fup=41,

Frfeiga 7 9 d@6ay @ifta g™ 1 dma (1) 3R TR F A () F

o i & 2 &
&6
A T Q\& B L
Wt & e
] 1
©  de .

Which of the following relations is correct for intensity of scattered light ( /) and
wavelength ol light (2 ) ?

(A) [w = (B) Jot —-

------
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40. FAfefaa o FF WRF W omw & M ad ¥ 7

(A)  e=1.-602x10"16¢C (B) e=1.602x10"'7C

(€) e=1:602x 10718¢ (D) e=1-602x107'%C

Which of the following is correct for charge on an electron ?

{A)  e=1-602x10716C ' (B) e=1-602x10"'7C

(C) e=1-602x10"'8C (D) e=1.602x10"'%C
41. mﬁ#mwwﬁ—wﬁmi ?

(A} ¢,=2-55 eV (B)  $5=2-65eV

(€ $y=2-75 eV (D} 65 =285 eV

Which of the following is the work-funetion of sodium ?

(A}  $y=2-55 eV &g\@@ (B)  $,=2:65 eV

(C)  ¢,=2-75 Sy (D) ¢y=2-85 eV

$

42, N T [T+ dEAT A §

(A) A+Z B A-Z

{E:) Z+-g- (15] z

Number of neutrons in nucleus is

(A) A+ Z (B) A-2

© z+5 oz

[ B |- |3003-s9/60) . -Pagc 18 of 32
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44,

45.

(117
Fefeahgd 1 81 g % fou &1 @ & 2

(A} (Blasdyg = (Blfggsim (B)  (Blypig = 2(Bif i
(C) (Blfusiia = 2(8) qimy (D) (B = 3B

Which of the following is correct for short magnet ?

A Blygiar = 1B) eoatorat B)  Blavar = 208) cyuatoriat
€1 Bleguatorat = 28) axiat D) Blyaar = 318 cquatonal
TR TEEY 83 T ST GE th ST A A R
(A}  T=2n J_J— B) T=2n]-1

B,, MB
(C) T=2=n M‘?” (D) T=2x JMB,,

Expression for the time-pc'%d of a magnet oscillating in a uniform magnetic
field is ‘Q\Q

‘Z);

reon [ S = I
(A} T=2n B Q\ (B) T =2n ME ..
(C) T=2n If” (D) T=2nJMBH

Frefefaa # w14 T & & T9E 87 (B,,) 3 g=aT g5 & HIW (n)

% [T |el & ?
(A)  n*« B, (B) neB,
(C) n e 5‘”2 (D) n2ei_

[ B |- | 3003-is9/60)
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40

117

Which of the following relations is correct for earth's magnetic field (B} and

frequency of magnetic needle {nj)?

2
A} n%=x By, (B)

(Ch nax By- (D)

Frfofan & w) ¥ fam & few a@t 2 0

(Al B=B,, tan8 (B}
(€  B=JB, tané D)

nur.BH

n?

1
o e
BH

B=B, * an4

B=B, 1an“ ¢

Which of the following is correct for tangent law ?

{A) 8= BH tang (B)
(Ct B=yB,, tané Q'Q\ (D)
g\\
e TrETYieT AR & &
S
§
A ey, * (B)
IC; m,=pepH (D)
Relatuive permeability is equal to
A =g, (B)
o
(Ch myo=pom, (D)

B=B,.~ tant

- 2
B-nBH tan< @

B |- 3003-:&9:&:1] .
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. v —:- ;v—- T ® 4L F v - "
a8 REEELTLALE SRR SR ERT T BV A

—
—
- ¥

(A} B~ =B; iR (1 TE T s

5] % ’j
< - J -...I.‘_n--
p BY=B] B AN

Which of the following relations 1s correct ?

L TR By Beui - H]
‘) ‘:1 3 . f’.
(€} B =B -8, (1] H - __ﬁ;__;.

49, Taefatma 9 @9 B 8 g qraar qon ) g & EeEe 1o

o e I
(A] c= J P;J €’) ﬂi} "= i ye memeaes

25 wabemtioys v
y
J.l'*{j Y]
g

() c=Ji‘i Q (D) E:-
€o K\Q o

Which of the fallowingé@ccrrcct for speed of electromagnetic wave 1t vacuum ?

&

(A)  c=Ju %QS B) ===
¢ Hg €5
{p fe.
' - |2 {Dy o= | —L
C = S
(Cl ¢ c, . “ b

x

L "‘l'wr__r b3
50. Tl & TE R B F AAEEE

=)

(A) 107! ZTEW (B) 1077 T
-3 2 { 1T S -
() 107 @A 0y 1077 ZF

B |- {3003-tss60 | fage 21 of 32
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it ——————— — B et

n (117 ]

—’
The value of B on the surface of the earth is
(Al 10" tesla (B) 1072 tesla
) 10 2 tesla D) 107° tesla

51 HRTHTR! el @ fogd-graa st dar &

- NA A

e
A NA A
[’} m I {B) m -'-NT
- - 2
C) m=NIA D) m =%

Elcctromagnetic moment of current carrying coil is

- -
A} m =N—;”‘ Bl m =£?
C m-=MA \\Q\Q D) m —
&6
52 ?riwfﬂﬁaﬂﬁm@qﬁa’ j fraeie & T @@t & 2
N\
$
TSR m S5
() (‘:( N—"}jJ (D) C( ;{%)

Which of the following is correct for galvanometer constant ?

¢ ClB)
A maR I 7
\ A [ N
© < ( ﬁﬁ] ) f( :a}?)

———— e -
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53, ¥ UHteX 1 uferdhy @ &
AT B ¥
Resistance of ideal am;neter is
H{A] infinity (B) zero
(C) 100 ochm (D) 50 ohm
54, IFIPId FOTERT I S.1. HTHE Ea &
[A} & (B) dE
(C) Z/em - (D] T
S.I. unit of magnetic ﬂ“’i\{‘b@
N _
(A)  weber S (B) watt
N
(C)  tesla §§ (D)  joule
55. ot & Ly frad S & fegr &1 9o ¥ 2
(A) ERT B) &M
c N (D) MEw
Lenz's law is the result of which principle of conservation ?
(A)  Current | (B) Momentum
£} Energy (D)  Charge
o [B |- 3003-(ss/s0) ‘ Page 23 of 32
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56.

57.

58,

[117 |
eforer uferara g &
(A) X, =2nfL B) X, =2nf°L
©  x, =2nf1? D) X, =2nf%L7
Inductive reactance i1s
(A) X, =2mL B) X, =2nfL
€ X, =2nfL? D) X, =2nf?L?
[T GeIRYIl HY STEEA 47T T &
(A) M=1~% (B) M=1+-}3
© M=1-L N (D) M=1+“£—
b N
S
Magnifying powe simple microscope is
agnifying $Q\
D

' s f
) le.__z‘ﬁ (D) M=1+3
dufea € eial @ e g 8
(n)  P=F+P B)  P=PxP,
0 po bl D) P=P(P,+ P)
(© ry '
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59,

6H0.

6H1.

Power of lwo lenses in contact 1y

(A) P= PI + P.‘). . (B)
" h
(C) P"},—; (D)

i, =372 W —ay3 A u,, B &

(A) 2 (E3)
o 9
(€) m (D)
fp,=3/2 and p, =4/3 then “p is
(A) 2 (B3)
9
(C) 3 (1)
a1 e ghife F17 AT
g\
S
Ay 20° NG (B3)
N\
(€) 48" @$ (1)
Critical angle for glass s
(A) 207 (1)
(C) 44" {[3)
rga-derpmr admi o1 Wil @i @
(), e (13)
(€)Y  (A) 2Ty B (D)

o]

O loe

Ol |-

30°

42¢ (FTam)

30°

42° { ncarly )

FRed
e

(117 |
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62.

63.

Nature of electromagnetic waves is
(A) transverse

(C) both (A) and (B)

forard % oo 1 radE o ¥

] _sin[A+5m]

B v —nAT2
sin[A;&m}

N TV

(B)

(D)

(B)

(D)

[ 117 ]
longitudinal

electrical

_ sinA/2
M= sin(A+5, )

sinA/2

=_ A+d,
o [257a)

The refractive index of material of the Prism is

sin(A+5_)
A} B=E—{A/2
A+
sin{C 2'"]
c X
€} r=—Fna/2

qeTeta qY & sE] Bl €

(A) SqEAATH x T9 B TR

() 9 F)

(B)

(D)

(8)

(D)

__sinA/2
K= sin(A+5_)

_ sinA/2

== A+d
S1n )

_ ST
g H TR
9y & TR
AUHAATE

B |- | 3003-s9/60
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64 .

65.

e o r—— p————
A iy 4, s B § s g St =

Optical path is equal 1o

(A) Refractive index » Length of path

Refractive index
Length of path

(B)

C) Length of path

Length of path

D
(D) Refractive index

M 1 WA 81 7
(A)  8-85x107'2 F/m

(€C) 8-85x10'? F/m
The permittivity of free space 1s

(A) 8-85x107!'? F/m \Q&Q

(C) 8-85x10'? &g@%

Tega-Tgya & s?wﬁm B &
[ﬁ] CN
(cy ¢

S.1. unit of cleetric dipole is

(A\) CN

(B)

(D)

(B)

(D)

(B)

(D)

(B)

(D)

(117 |

8.85x10"" F/m

8.85%10'! F/m

8-85x10"!!' F/m

8.85x10'! F/m

Cm

o

Cm

c
m

Bl-

PRS- |
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66, Hoig R F |iAw 9 FAT §
~__ 1 99; 7 = 1 99
(A) F= . r B) F= —
oYy TP
4 1 9,9, = 2 1 9,9, 7
C F= . r D F= .
E{] Tm ey r? (D) Freg f_::lz
The vector form of Coulomb's law is
Py 1 949, 2 = 1 949>
(A) F= - r B F= L
41&0 —r* 13 471:&'0 (7 |3
s 2 7 2 A\ )99 7
@ F=gi- BR7 D Feg
4n €5 r 0 |7 ‘2
67. Tmdl OTetE HI uTial g €
=Y
(A) C=qv Q (B) C—q
\Q
N a
© C=zqv o) c=2
27
Q
The capacity @ny conductor 18
_v
(A} C=g-v ® c=7
_4q
€y C= -%q 7 D) C=2
68, IR TeTE H Sl el €
1 B) E=+cv?
(A) EIEC.V ['_ _2
© E=5C% D) E=C.V
[ B |- | 3003-i59/60) Page 28 of 32
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09,

70.

inergy of a charged condurctor s

(A) I ::%_(:.1‘-‘ : () E:-zl—l'.',‘lfz
(€) E:-é-c"-’v D) E=C-V

C
Ay c©=1L (B) C=—
C, n
(C)  C=nC (D) C-=n%C

117 |

tf n capacitors of equal capacity C, are connected in parallel, the equivalent

capacity will be

W Cc=Z B c=2
1 n
"~
(C) C=nC &6 (D} C=n%C
S

N

-~

(A)  3x10% v ! (B) 4x10% vm~!

C)  5x10° vm~! (D) 10% vm™!

Dielectric strength for air is

[ -
A)  3x10°% vm™! B) 4x10° V!
(€)  5x10° Vm ™ “ D) 105 vm-!
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[ 117

WUE - § / SECTION - B

WY IANE WY / Short Answer Type Questions

mmzﬁzoagaaﬁw?;ﬁﬁ?mwaf%w%fm*ﬁvzm

frerifea 2 : ‘ ' 10 X2 =20
Question Nos. 1 to 20 are Short Answer Type. Answer any 10 questions. Each question
carries 2 marks : 10x2=20
1 Togd g a0 F N E 2 5
What is clectromagnetic wave ?
5, RET T FNE ? 2
What is Lorentz force ?
5. Tavemrd & < IE @ fd ' 2
Write down two uses of p%entiometer.
4 ﬁm%m%\%ﬁm@ >
Explain parallcl %p'mg of resistors.
A AT SEdTE § ST weEd € 2 " 2
What do you mean by refractive index of medium ?
6. AT ) o o | 2
Write the definition of wavefront.
7. & TqEE & sredry-Feoffe § 39 @ GERA € 2 2
What do you mecan by end-on-position of a magnet ?
5 P e A o 2
Write the definition of electric potential.
T [B]-|3003-59/60) pane 30 a2
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12.

13.

17.

1}.

19.

8

[ 117 ]
T (o ) R0 & ot =1 fordy 2
Write two properties of alpha ( o ) rays. l:
fremurtt si® vefa =t W) 2
Explain binary number system.
T & T faetaur it qEw | 2
Explain dispersion of light.
T % fage ¥ 9 T € 2 2
What do you mean by diffraction of light ?
et s B T 2
Explain capacitive reac;ance.
Wmﬁwﬁﬁﬁmwmmwﬁg%ﬁl‘ 2
Write colour code of carbon resistance for orange ‘and yellow colours.
TEHY 3ot Y T | https:x‘fwww.bscbs?tudy.com 9
. Explain magnetic moment.
T IV Y areams e 2
Write the definition'wf angle of dip.
TEHY oI Y IR W S 1 AEe ferd | 2
Write down the definition and S.I. unit of magnetic flux.
NOT T OR R ! HeaT WROM ey fert aiwres o | 2
Write the truth table and Boolean expression of NOT and OR gate.
3T WO F fagra w2 2
What is the principle of conservation of charge ?
Frly T R} 9w TR 2 2
What do you mean by apparent dip ?
B |- [ 3003 15076011 Page 31 of 32
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e iy 99 / Long Answer Typs Questions |
m#mrm#zﬁa%‘mﬁwm#;ﬁﬁﬁgnﬁtmirm*

fore
5 ¥® Fyifea @ : 3x8=15
Question Nus.' 21 to 26 are Long Answer Type Questions. Answer any 3 questions. Eqch
question carries S marks 3x5=15
21, Wéﬁﬁréaiﬁﬁaﬁmmgﬂwwmﬁl 5
Find out the expression for equivalent focal length of two lenses in contact.
22, mhﬁm@wﬁwmﬁl 5
Establish expression for the width of the interference fringe.
23, maﬁw%maﬁtmwmi 5

Explain construction, working and uses of a transformer.

24, w%méﬁwmﬁwméﬁmmwﬁﬁﬁlhﬁmﬁﬁﬁt
-3t § a1 Hﬂ;lg\g ? 5
. O
Establish cxpression Q;é} heat produced in a conductor due to flow of current.
What do you me electric power and electric energy ?
25

mmm%@%wwmm%mmm =y

S
Establish expression for magnetic field at equatorial position of a magnet.
26, TE % U9F @ fomd i 59w & 5
Writc down Gauss's theorem and prove it.
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